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The Laplace Equation:  04 – DRND  (Dirichlet- Robin-Neumann-Dirichlet)  
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Supplemental problems:     ↓  
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Solution of supplemental problems: 
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Where   →nλ  positive roots of : 0)sin()cos( 2 =+ MHM nnn λλλ  
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Where   →nλ  positive roots of:  0)sin()cos( 2 =+ MHM nnn λλλ  

 
 
 

Solution of BVP problem: 
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POISSON’S EQUATION:    04 – DRND 
 
 
 

    ( )
My

uH
dy
du

xf
=

�
�

�
�
�

�
+= 22  

                    M 
                                             
 

      ( )
0

3
=

��

�
��

�=
xdx

du
yf            ( )y,xFu2 =∇          ( )4u f y=  

 
 
           0     L 

( )1u f x=    

 
 
 
 
Supplemental problems:     ↓  
 
                  
       ( )xf2            0                      
                                             
 
 
                  ( )yf3         0u5

2 =∇        ( )yf4   0          Fu6
2 =∇        0 

 
 
               

( )xf1               0         
 
 

 
 
 
 
 

Dirichlet

Dirichlet

Neumann 

Robin 



EngT502 Fall 2005        PELE - POISSON EQUATION-LAPLACE EQUATION        04 - DRND                           Taylor Harvey                                     
  

 
 
 

Solution of supplemental problems: 
 
 
Solution of Laplace’s homogeneous equation with non-homogeneous b.c.’s: 
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Solution of Poisson’s equation with homogeneous boundary conditions  
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Where →nλ  positive roots of:  0)sin()cos( 2 =+ MHM nnn λλλ  and  
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Solution of BVP for Poisson’s Equation (superposition principle): 
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